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1. TEIETS] OMR S

S=FT o=l in the OMR Answer
2 T TEEET £ s are required to give
ST & wers in their own words

3 T IR EeE k
T IR wRA B

of extra time have been
or the candidates to read

T RT TTEl the questions carefully.
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Question Nos. 1 to 70 have four options, out of which only one is correct.

You have to mark your selected opfion, on the OMR-Sheet. Answer any

35 questions.
1. fraffRes § @ 959 99wA i (2w wiem) T8 8 ?
(A) UAG (B) UGA
(Cf AUG (D) UAA

Which of the following is not a termination codon ?

(A)

(C) . AUG

UAG (B) UGA

(D) UAA

2..' ST TAT F TR0 <67 1 37 7 2

(A)
(Bf 3R INTAT HT TG 3 JoT
_ (C) AT FHT FFAGH
(D) 3TTTT T T
' Page 3/ 32
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What is the meaning of charging of t-RNA ? :

(A)  Linking of amino acid with cognate t-RNA

(B)  Attachment of #-RNA with ribosome

(C) Translation of RNA

(D) Modification of RNA
3. fmfifew A 3 ) arEmmEs W 27
(B)  wRAT

(A) T
c | (P( AR

Which of the following is & non-infectious disease ?

(B) Malaria

(A) AIDS
(C) Cancer . (D) Typhoid
s Prefufe 3 @ fra w6 S B ACHCLIE FEd & ?
\)/ Rremiarse - (B) WHETEE
() (D) AeEIcH
Which of the followmg blood cells is known as PMNL ?
(A) Lymphocyte : (B) Monocyte
(C) Neutrophil (D) - Platelets

5 PfRer i @ P g Pe 8 8 2 2
(A) IgA ‘@/ IgG

| (C) IgM (D) IgD |

%‘7 * Which of the following ig abundantly found in colostrum ?

i Nk IgA W (B) IgG

el 8 D) 1D

2:;'-4 ‘ e
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What is diacetyl morphine ?

(A) Codcine (B) Heroin
(C) Cannabinoid (D) Coke
Reerdau A R skAig a2 2

(&) TERE B o
() TH (D) =gt
Which fever is confirmed by Widal test ?

(A) Malaria . (B) Typhoid
(C) AIDS (D) Pneumonia

g SR T B I UE agd S athe B T AR % Y S
W%W,Flww'ﬁﬁawﬁaﬁa}&m-m%?
(a)  sIferT B) S

(C) ~"s1gul swTterar (D) Traata faQremt s e

In a cross between true breeding red {lowered and true breeding
white flowered plants of Antirrhinum the F, genecration was pink
flowered which is an example of

(A) Dominance

(B) Codominance '

(C) Incomplete dominance

(D) Blending of contrasting forms of a character

24 /A /X11-5009-(32/40) Page 5 / 32
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9. Fosfafed i @ e we areen § 7
() il s Pt s @@ 8
(B) e fafes 86 8
©r wex d wre gl A €1 €
(D) 37efter =7 angw & |feoT gl 8
Which of the following statements is incorrect ?
(A)  Characters arc controlled by factors
(B)  Factors are discrete

(C)  In pea, factors are in pairs

(D)

Alleles blend with each other

Page 6 / 39
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12.

13.

") N (BY e v yan

© )

. 1ded the .
Who propoul he chxumosomul thcory of inheri "
/ Lrieies

(A) Mendel (B)  Sution and Boyer
(c) Morgan (D) Henking

frerfafad # | HH e Ry T R »

) = Rg (B)  emsrheer figm
of TR (D) Eirhiferar

which of the following is not g chromosomal disorder 7
(A) Down's syndrome _ (B)  Klinefelter's syndrome
(C) Turner's syndrome (D)  Haemophilia
e 1 X-Fptor fasia srterst frad R o

(ay i e v Wi Hewim

(B) TS

(C) - deud wd freh
(D) ®iel ’

Who provided X-ray diffraction data of DNA ?

(A) Maurice Wilkins & Rosalind Franklin

(B) Chargaff
(C) Watson and Crick

(D) Holley

24 /A /XII-5009-(32/40) Page 7 / 32
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(A} ey wsr oy werel 900 2

B) Ry w1 s e oY @

(©F Sharoy w1 srgifares wared ST B

(D) fraroy sy s Tqrl TS g

What was the conclusion of Hershey and Chasc experiment »

(A) Genetic material of bactcria is DNA

(B) Genectic material of virus is DNA

(C) Genectic material of bacteria is RNA

(D) Genetic material of virus is RNA

Arfrfan § & i ST & R FAER HaTEE TG 8 P

15.
() SheTpAsh (BL . S
_,(6r PBR322 (D) &-SiEe
P Which of the following is not a cloning vector for bacteria ?
(A) Bacteriophage _ .(B) Plasmid
(C) pBR322 (D) T-DNA

A& fear ATaT % 3
A | (B) ®9r=aqur
ol oy | (D) g simdn

' DA I A INPYY =~ —



: l @iy of the Bilowiy

oy maciews of animy) cell direetly 7

e b i
8 mirthods ia used to inject recomy

X Tramsiectny
(£ i = (B) Transformalion

o GCocom (O} Microinjecton

e t:usg;m = (8) &;E_}?

¥ EE= (D} [T

For isclation of DNA 2 fungus is treated with which enzyme ?
e} Irsomme (B) Celiulasc

(€} Diizse (D) Chitinasc

2 I8 Penores T S35 pBR3IZ2 = FH 22
(2} Tiosie T Sea By waEuT =S

© TR D) whrfrs shad =

Wiich of the following is absent in pBR322 ?

(4} Origin of replication (B] Restriction site

[k T-DNA (D} Antibiotic resistant gencs

=% =i 9 = B et vhA o § w0 R, @ gEas
=g B

(&) TEETCHE S0Y TEE & ST

B RS veT IO g SR

& sEffmm e & R

D) w=iEiies sfr e gegg e
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11
onlatn?
cline rew

If
& foreign DNA is inserted in tetracy
recombinant plasmid

(A)  Will lose ampicillin resistanc¢

1 s .Y Q1S CC’
(B)  Will lose tetracycline resistan

ecome €asicr

(C) Cloning would b
ger

(0) Ampicillin resistance Wil pecome Strof I
20. mﬁamm@m@“ﬁmw ‘
&) ohdfRRE B :Wﬁ o
(© AR i table DNA |
ria, thermos

From which of the following bacte
ro

polymerase is isolated ?
. us aquaticus

(A) Agrobacterium (B) Therm qu

(D) Archaebacteria

Methanobacterium

21. ﬁnﬁ@ﬁﬁﬁﬁqmmﬁﬁ?ﬁﬁﬁﬂm%?
(B) g YA

(A) TnafERiEw
© sERRmTET . (D) kST

Which of the following bacteria synthesizes insecticidal protein ?

(€

(A) Agrobacterium (B) Bacillus thuringiensis

(C)  Escherichia coli (D) -Archaebacteria

24/A/XI11-5009-(32/40) Page 10 / 32
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() =TT (B) wwf =

€ WEEER (D) iR ww

At which level is natural selection operated to evolve the desired
traits ?

(A) Individual level (B) Population level

(C) Community level (D) Ecosyst;:m level

T Tl % o1y Rfis #§ sHA-ud, SE-s T S oy 9 % saRedl
1 S A g2l A § & @ a8 whifsfa s & fF anfy

(A) . TGW R (B) ww%.

c fr? (D) IR
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‘ - pre-reproductive, repro :
When percentape of individuats of prereprt + TeProducy,,

seasing order in th
and - post-reproductive plinse s 11 decreasing ¢ ap,

that po
Pyramid of umun population, 1t shows
(13) Decreasing

pulation is

(A Expanding
(€)  Blable

25, Frsifeafige of 4y sl shiesmie 5§ U 8T
(A saria srgret e el o i

(D) Unstable
ot w8 ?

(13)  wrEmeh
(€)  unfl ud wrard
(D) i va amm

i ifetime ?
Which of the following reproduces once in a life
(A)  Pacific salmon fish and bamboo

(B) Mammals

(C) Birds and mammals

(D). Litchi and mango

26. anfer 9 utw fres: wafta sl & qry-arey X ST IR0 R 91 ?

(A) o smges (B) EEIYA fvreH
(©) (D) "Il

Whal was the rcason for co-existence of five closely related specie

of warblers ?

(A)  Competitive cxclusion (B) Resource partitioning

(C)  Parasitism - (D) - Commensalism

24/A/X11-5009-(32/40) Page 12 / 32
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a Wﬁéaﬂq—mtﬁm felen wea emgmmgs 3eas wa B 7

Faed (B)  degifer

(A)

o T e (D) g

which of the [ollowing plants produces poisonous cardiac
lyCOSidc

(A) Cactus (B) Calotropis

(€) Coffee plant (D) Tobacco

pyeferfaa & ¥ i I9EeH § ?

i w e (B) whas ud faurd]

) s T ST (D) e, SiaTY OF fTd

which of the following are decomposers ?

() Fungiand algae (B) Fungiand virus

(C) Fungi and bacteria (D) Fungi, bacteria and virus

e 7 8 i el s () s 3 Rove sowrd T & 2

() STEIREHT | (B) ¥ $q

(C) TG (D) TFH ()

Which of the following is not responsible for vegetative propagation
of plants ? ‘

(A) Offset | (B) Bulb

(C) Rhizome (D) Gemmule
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30, Prafefaa o @ Yy -4l
(A)  mrkfIen & HIE &

(B) &[T — DR
() fﬁgﬁmaﬁq.m‘@ﬁ“ gy are 7 9 &
D) FmEETE A i 7 A T &

ing statemems is incorrect ?

Which of the follow

(A)  Antheridia are prcsent on anthcridiophorc of female 13
o thay,
“n-

of March‘antia
ecious

gamete after
ed in Chlamydomo
L

(B) Charais mono
meiosis

(C) Diploid genc forms
nas

(D)  Zoospores arc form

31. ﬁmﬁmﬁﬁ%qﬁﬁﬁ &Il <l
() g B)
(C) vl (D) qrafaq
Which of the following plants is referred to as ‘Terror of Bengal'?
(B) Bamboo |

. (A) Water hyacinth

(C) Lantana ‘ (D) Parthenium
32. ﬁnﬁ%ﬂﬁﬁﬁammﬁrﬁmmﬁf% ?
(a)  srefifaam B) <t
() EmE-TE (D) #STE ER
Which ing i
ich of the following is not a part of microsporangium ?
(A) Endothecium © (B) T t :
apetum
{C) Epidermis .
(D) Micropyle




ﬂ ﬂﬁﬂﬁq%’%ﬁﬁam l:m;ﬁ;
4 gﬁﬁ‘ aﬂﬁ &7 B 35 Fasars & g @1 AL A
™) w1 SR i ‘ i .
(C) g SIS 71 Hifdrey (b) e )
which of the following cejig e 15 fores v ’
angiosperrnic plant ? o male gamcm? ;,-,
i (B)  Generative cell
() Microspore mother cell (D)  Microspore
. Wﬁaﬁm_a@aﬁwgg
(A) e IR B st
©) wfaeaEd aﬁﬁﬁs‘r PR
which of the following is not associated with egg apparatus ?
(A) Synergid (B) Egg i
(C) Antipodal cells ' (D)  Filiform apparatus
35. arg 3 dieT T Tee (TPHeeH) HY 9T Fed & ? :
@) HEE B) A
) e e P e e

Scutellum present in the seeds of grass is called

(A) Endosperm (B) Cotyledon ’

(C) Seed coat (D) Embryonal axis

36 TeEl-1-GARET Ht ITfE =R ?
‘ (A) TrETZAAT ¥ IR By ST % ITER |

(©) feams AT F®IH (D) TgAE % ITER A
24 /A [ XI11-5009-(32/40)
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ntitrypsin
he use ol alpha- 1 -antit Psin
’ ‘ _l -
What I8

In treatment of emphysema
(A)
(B) In treatment of asthmag

(C) As insecticidal protein

Inhtreatment of diabetes

nucleic acid ?

(A) Transformation (B) Transfection
(C)  PCR (D) Micropr_opagation
38. mpﬂmwwm%mmm%mg
ST 8
18y seha piy B)  amhy py
€ sar py (D) qeérwaﬁ;{amapn
At what pPH insecticidal 'protein Synthesized by Bacillys
thunngienszs becomesg active
A)  Acidic py

\pagels/:uJ
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39"
(A) \
(B) TrEmmE
/Ww - u ‘
(D) wrafEfEd

. 1 festation e

RNA interference is utilized to prevent nematode 1
tobaceo plants. By which vector are nematod® spt%:’r ic e
'introduccd ?
(A) Bacteriophage (B) Retrovirus
(C) Escherichia coli (D) AgrobaCterium
40 et < 1 Rt fe s i gt Tt & 7
o @ 15
© 27 D) 5
‘ How many varieties of Basmati rice arc grown in India ?
@A) 20 B 15
q © 27 D) 5
b o & @ F e S agémﬁa@ﬁmﬁzﬁéarﬁ*m@

aﬁmﬁ%aﬁamﬁwmﬁuha?ﬁao
W@Wﬁﬂm (B) g senfiehr frT
(D) st wee R
Page 17 / 32
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Whigel
ROl the
ollow;j oy 04
lowing Organizations makes decision regarding th,

of
GM fescarch and the safety of introducing Gy

A p
CPartment of Science and Technology
B) b
CPartment of Biotechnology
- ©)  GEac |

(D) Indian Patent Office

42; Wﬁamwﬁméﬁﬁm‘?‘@a% %
(a) wiffeR () e
(C) e wifa () T aE

Name of Ramdeo Mishra is associated with which . field of

‘ research ?
(A) EcoIogy- (B) Biotechnology
(C) Green revolution (D) Genetics

43. Wﬁﬁ@ﬁ-mmﬁmﬁmﬁ%aﬁﬁm%?
(A) oY w1 areieRaht gfvepfa gar 2
B) e H SRR v G S e 2
(C) whopfa & feht *ft wrereht & wRomrasy Iwfad B 2
D) B 7 A e sfepR e g 2
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mentn s incorrect about DA

y IDNA replicatjon in BeMi-cop,
servalive

' Main enzyme
(B) for DNA eplication ig DNA polymerase

Mutation apne
(© appearg oy o error in replication

eplicat
o) Rep lon on bo}, Slrands of DNA is continuous

Wﬁﬁmmmmm%WEmM%?

|

!l ‘ (A g FIBTISST (B)  #mueU qicfat |1
p i (D) sezrm, ettt 11T
, n of

which of the following Cnzymes is responsiblc for (ranscriptio

“'bosomal RNA ?

#)  RNA polymerase B RitApolymerEse]
(C) RNA polymerasc II (D) RNA polymerasc 111
| ol 571 91 2 e o s e 8108 S A
| sk
W IR (B) srERA
(C) i (D) e
Some amino acids are coded by more than one codon. Such code is
known as .
(A)  unambiguous - (B) degenerate/redundant

(C) universal (D)  specific



Ex
W A W y N y yfiver wan o

A Wi AR e IR
@) voficy w1 g Au
Q) Wt ofty wr g AU
(D)  TiweRwdier w1 FE A
What is the role of y gene in lac operon P
{A)  Codes for p-galactosidasc
(B) Codes for permeasc
(C) Codes for repressor genc
(D) Codes for transacetylase
47. GoSE AT fad AT T ATHRG g7
A) pfia fawr (B) gEETS W R
(C) S (D) FrEr ferhra
Paleontological evidence is based on the study of
(A) embryological development
(B) comparative anatomy
(C) fossils
(D) divergent evolution
48. T &Y mm EQIfFﬁ ? >
(), S0 ey (B) st fea
i BT R (D) @

S




analogo [ #1971
Whﬂt do UOBOLY leuctu,.m sk
| 8 show »

pivergent cvoluuon

(N (B) Convergent evolution
o PRl atlion Saltation
g Wﬁ-ﬁﬁ’faﬁmm@?
(A) 18,000 7 (B) 10,000 7
c 75,000 a9 g ©) 400008 g3

when did pre-historic caye art develop ?

aj  23:000years ego (B) 10,000 years ago

©) 75,000 years ago (D) 40,000 ycars ago
g I TP T, 3 35 o o sinferat et 2 & 2
W 2 ® 3

) 1%E (D) 6mm@

After how many months of pregnancy, do limbs and digits of
embryo develop ?

(A) 2 months (B) 3 months

(€) 1 month (D) 6 months

L frafeRed 7 @ S Wil wmn § S arfdd @ 2 2
L(A) Tt gewh (B) vad fis

) i fis (D) STafdes 9w
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N ) = ! . n" l/
Which of the following necreles Irpge pmaount of progs nlero

(A Qraafian follicle ()  Corpus plblecans

(C) Corpus luteum (19) Primary follicle

D2 ekl % vy siww @ @A A6 7 fory wan 2 7
) sl flre (@i W) (3) i deAfaE
(D) s T (A )
p of cells called

(C)  wimmr HEY

After ovulation the ovum is sgrroundcd by a grou

(A) Corona radiata (B) Zona pellucida

(C) Granulosa cells (D) Theca layer

53, FrefaRea § & @ BT oTIPE € ?

(A)  siEw ' (B) it Few
(€ Thes isH A (D) FHAA
Which of the following cells is haploid ?
(A) Oogonia ' (B) Primary oocyte
(C) Secondary oocyte (D) Zygote
1. T i Pt e, < -wugee 2, 3w wE E 2
(8) T @ 20 - (B) SNERE

(D) f’c‘v@?ﬁq
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5 % s

M CIR AN T8 ETRRYE R L B O ey ", el Wy wedi H ol

diversity ?

m | 1 l’):
wirena # p
(A) @y B)  Pamem
() YN (D) T RE¥arr

Going down of inorganic Water soluble nutrients into the SO

nutricnts is called as

(A)  Fragmentation (B)  Lerching

(C)  Catabolism . (D)  Humification
T A % IR AR STt el R -4

(A) 7 e ' (B)  1-5 Prfer
(C) 20-25 R (D) 2 faferm

According to Robert May how much is the global SPCCiei
diversity ? | :

(A) 7 million (B) = 1-5 million

(C)  20-25 million (D) 2 million
W <t Sa fafauar fva Y 3o 9 fafyuar = feaar shwa 2 2
(A)  2:4% B) 81%

C) 5% : (D) 9%

Biodiversity of India is tn;hat percentage of the total global specig‘

2:4% (B) 81%
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200 B yfy
hirs s
LT TP T -

| (13) |
£ S—

Qe
¢ . D) Jmameita sy
i at was the reason for Cxtinction of m
Cichlid sh in Lake Victoria » et g
o_cxtinction
M G (B)  Alien species invasion
(C) ove_rCXPIOitation (D) Habitat loss
5 @ 4 frvEETh e w5 T S 2

W

(M)

e feBIe
) : (D) it RITT GEC i gafd
WhiC_h of the following is not the reason for global warming ? i
w Use of fossil fu€ls .
(B) Deforestation

2
(€) Population explosion
D) Improvement in the efficiency of energy use i
page 25 / 32




Al Itis oydlic
B) Zez'owasteisgmemted
Maﬁmum‘uﬁ]izaﬁon of resources
(&)
(D)  Use of chemical fertilizers 2
= weer @ T frafs ) e v 2 ;
o At B) fyafma
| 4 ﬁaﬁqB,_z i i
C (D) faafm
© fafte |
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i dappy,

(td m
‘H oy TR WO d ek a3
1 |
i
Md\‘ﬂw]
(B)  ufiay
‘ ifadvh
: dm;ﬂmmm v
| D) Aardfygem
\,,]ndc“ Fleming discovere Jicia y
. Penicillin while working on which of

|
\
ono\vi N g bll(! l(‘,']‘ia P

ne

N StrcplOCOCCus (B)  Acctobacter
) FIEBIER (D) Lactobacillus
W A BN FORTA ¥ Hvdmn | U

n T B) B

) AT (D) wfe

which of the following inhibits synthesis of cholesterol ?
(A) Eroteass (B) Streptokinase

(C) Pcmcxlhn (D) Statin

maﬁﬁmﬁa@rﬁmmﬁﬁmaﬁwmﬁ%?

e Y (B) FgEIhdl

(A)
geA yau

€ ot wwRa (D)

ate a whole plant from a plant cell is called as

Capacity to gener
(A) Tissue culture (B)  Pluripotency
(C) Totipotency (D) Micropropagation

Page 27 / 32
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Rurcder Rl e § & Ry ey 25
63. s

(A) N ‘ B) &y
© W By
Hisardale is a breed of whijch of the following animals ?
(A)  Cow (B)  Bufralg
(C)  Sheep (D) Chicken
69 Wﬁﬁmm%mﬁ%mmm
fear g o7 »
(A)  SfEdT g B)  wegfsr
€ F&m D) e s
Which of the following techniques wgg used to get yellow mosaic |
Virus resistant mung lenti]

(A) - Mutation breeding
(C)  Hybridisation

(B) Introduction

Tissue culture
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ort An.wer T
yYpe Questions

4 20 7Y 3Fahy &
oy Hi
ﬁﬂffﬂ 10 57t & iy & 1w & P

10» 2 =20

NoS- 1 to 20 are Shy
r Aflsw
er

. ,]
tion carmes 2 marks .

410
W es

Type. Answer any 10 questions.
10 x 2=20

gda® ( St wierareem) @ & 7 )‘Z;

What arc SpCI‘l’IlétOgorﬁa pri
mary spermatocytes and secondary

spermatocy’tes ?
? %7
J w1 w2 o
at arc contracepti szt X
e e pills ? How do they function ?

; ag 4T gt B TTEAT T U H :
D escribe ﬂ:le StruCture. of microsporangium.

| - fre 1 =& H E
Explain double fertilization.

) uﬂa'a;snaFﬁﬁnzéﬂWﬁqt, m,ﬁg@wﬁw%mmm@
4| - : : 2
Draw the symbols used for male female, mating and

| consanguineoﬁs mating in human pedigree analysis

. uﬁaaﬂq’mqﬂzﬂm%aﬁw%? 2
What are the goals of Human Genome Project ?
3ot earferar 4T r T
What is incomplete dominance ?

— ]
/XII-5009-(32140)__\ Page 29 [ -
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B |

. el @1 ¥ @t ap va M w1 shi o OB, @ 9% dafa & sfur o
aqr ®Wm P | :

if the blood Bgroup of

What would be the blood Broup of Offspring,

mother s A and blood Broup of father jg o?

0, um&q{:}:mﬁmmﬁ'mnm%? 2
What are the factors which affect Population growth ?
10. Wit e ) sy Eay 5
Explain parasitic adaptations,
11. m@mqmwﬁwﬁwwaﬁrm%? 5
. How are DNA fragments Separated and isolated ?
12. ELISA®TR ? f 5
What is ELISA ? ' '
2
2
2
2
2
2

pap‘n 22N . _



20. mﬁﬁﬁgw

%
ST T 2 o TR 2w (ferrte) e % forg a9

Question Nos. 21 to 26 are Long Answer

Type Questions. Answer any

3 questions. Each question carries 5 marks. Give your answer in about
120 words.

. 3x5=15
21. 9 fafoan & a1fy ¥ w6 sren =

Explain the causes of biodiversity loss.
22. Trafaies o d@fam feoft fond -

(A) HITHRE T5h

(B) et s

S

2x23=5

Write short notes on the following :

(A) Phosphorus cycle

(B) Primary immunity.

23. frfafes w i Reooh R -
(A) i

(B) A Hi garafAs g

2%x23=5




Otc~
B writ€ short ™
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26.

(I 8 ‘
lowing :

p\"c@’
nemical comp

sﬁqmgaﬁﬂtﬁvﬁm%am%ﬁ%mmm% ?
e of interest amplified by using PCR ?

(A)
B €

S RCagy

How i1s

et A I l
(A) mﬂwﬁam%m@m@%@?

(B) WW%WW’FYﬁWw%?

Answer the following questions :

osition of DNA.

(3]

gen
1
2x2§=5

(A) Stability of DNA is higher than that of RNA. How ?

(B) What are the roles of three parts of transcription unit ?
frefafea w aftw feoaoft fod - g 2 x 21 -

. =9

(A)  STauqur :

(B) TogwA (ATaH) |

Write brief notes on the following :
(A) Implantation

(B) Auto gamy.

)



